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§ 1.MEMET (RCEID

X (PIEERHERBER - BEEfmBESR)
1.avoy)y—F
EATaVy)— bk ock=24N/mm2

avy)— MK
Vi=1.72x {(;t.~4%1.00072+3.500x 1.000) + (;r.~4x1.600"2+3.500 % 1. 600) }
X 6.180 = 36.76 m3
V2= 172x {(;t .~4%x1.60072+3.500x 1. 600) + (;r.~4x2.200"2+3. 500 x 2. 200) }
x0.200 = 1.91 m3
V3=12x {(;r.~4%x2.200"2+3.500x 2.200) + (7t .~4x2.600"2+3. 500 x 2. 600) }
x4.530 = 58.69 m3
BEEEIERI 2 = 36. 760+1.910+58. 690 = 97.36 m3
V= 1.72x {(;t.74%2.100"2+3.500x 2. 100) + (7t .~4x3.100"2+3. 500 x 3. 100) }
x10.910—97. 36 = 61.99 m3
2. BPEE FHRES : HZ30m
HEELEY  ARARER
MARREYEE
A= 1.72x(2.100x t+3.100% ) x10.910x 1. 001 (f} =) = 89.2 m3
— B PmEiE
A= 3.500x2x10.910x1.001 (f}=R) = 76.4 m3
3. BRE R UM
1) £ #5 (SD345)
D19 —-—=— = 2,432 (kg
D16 —_—— 1,680 (kg)
D25~D165t+ = 4,112 (kg
D13 —-—=— = 14 (kg)
2 = 4,186 (kg)
D19 (HREH) = 96 AR
D16 (ZL7iBE#E  1=200mm) = 146 HFr
L= 0.200x 146 (& Fr) = 29.2m

avy\)—+r7vh—
M12 x 50 (SS400)

198 K



4 HIFLT

1) [EhR € & & (D19/) ® 29 x 440
L= 0.440x96

)3y y—+r7h—M2R) ¢$ 18 x 58
L= 0.058x198

5 BIEEATL (ZRFIUHER)
HfIEE 1200kg/m3 BRE 15%

1) ¢ 29FLF (EERR TE 7 &B)
W= (0.029"2x0.440—0.01972 x 0. 430)
x 7w./4x1200% 1. 15 x 96 (& FT)

6. RELE
S ENEEHE
1) HAIE
g | -
g 5
1 500 j:z{(: 500 )

A1=1/2x(10. 142+12. 027) x6. 180 = 68. 50 (m2)

6180

_mi 5100

800 3500 800

A2=1/2x(12.027+13.612)x0. 200 = 2. 59 m2) 8l

1100 3500 1100

5700
=
A3=1/2x(13.912+15. 168) x4. 530 = 65. 87 (m2) E
1240 6100 1240
1300 3500 1300

600

=
B
7 =

|
i

A= A1+A24+A3 = 68.50+2.59+65. 87

2)7—FUJLtm

A= (m.74x3.60072+3.500x 3.600) — (7 ~4x2.600"2+3.

x1. 112 (f# )

N = 96 &P
= 42.2'm
N = 198 &Fr
= 11.5m
= 22.4 kg
_L1 @&=1.000x 7 +3.500x2 = 10.142(m)
_L2  F&=1.600x7+3.500x2 = 12. 027 (m)
T3 FE&=2.200x+3.500x2 = 13.912(m)
_L4  F&=2.600x7+3.500x2 = 15. 168 (m)
= 137.0 m2
500 x 2. 600)
= 6.8 m2
2 143. 8 m2



1. =Lt (arRk)
RCEHI TARD RImfIE CTEEAE L DEAEICET T 4,

—
1

1.000x 7 +3.500x 2 (EEER#FS\E&E) = 10. 1'm

<
1]

1,722 (cm) x2(cm) x 1,010 (cm) .~1000 (cm3) = 2.02 0

8. BIBHT (FHHKES : H=30m)
HiES h=11.510m

® -

0 Wi 14425 W& 14425 b
) XM 13925 ) SME 13925 4
1
;

®

(BF)E LE

! il ILINEIIE N )
]

MRS TER (2% (3.20+6.70) +4 0. 90] x6. 1842 (32046 70)+4 1. 10) x5.33 = 273.6 ()

A= {2x (3.20+6.70) +4x0.90} x6.18
+{2x (3.20+6.70) +4x1.10} x5.33 = 273. 6 #tm2

9. MHEE
T—FUVICERT HHBREMBHHFHOHIFLICH L TE., BIEEROHKFH Z UM LA
FOMFREEZITIDDET D,

J—F U L@
A= (m.74%3.100724+3.500% 3. 100) — (;r ~4x2.600°243. 500 x 2. 600) = 4.0 m2
10 HIFLAEEa VY ) — b+ (EH)
1) avyy—+r: ock=18N/mm2
Vi=1.72x0.500%0.242x (3.267 % m +3.500% 3.267) = 1.31 m3

2) B
A= 0.242x (3.600x 7t +3.500 x 3. 600) = 5.8 m2



